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Internal Rule of Two

The Rule of Two works great for most problems. However, it does not work as well 
for long problems or for analyzing long passages. This is because the students end 
up sitting for long periods of time while the teacher works a lengthy problem or 
analyzes a long passage sentence by sentence.

To allow students to participate sooner, we developed the Internal Rule of Two. 
The Internal Rule of Two says that students can do some of the repetitive steps inside 
a larger problem after the teacher has modeled how to do that step. That means you 
don’t need to analyze every sentence in a long passage or perform every calculation 
yourself in a complex math problem.

Let’s look at an example.

Skill Development/Guided Practice with answers shown. (5th)

This passage is Skill Development for you the teacher to analyze. There are 10 
sentences, but you don’t need to analyze all 10 yourself. You can use the Internal 
Rule of Two and have your students join in.

However, you can’t just do every other sentence. You need to look over the text 
ahead of time to see which groups of sentences you should analyze and which ones 
the students should analyze.

Step 2 states, “Read the passage and identify events that suggest the theme. (under-
line).” This is where you use the Internal Rule of Two.

There are 3 events to be identified that will suggest the theme. They are sentences 2  
through 4 (boy disobeys and falls into the chocolate), sentences 6 through 8 (girl 
disobeys and turns into a giant, purple grape) and sentences 9 through 10 (Charlie 
obeys and gets lifetime supply of chocolate).

You model identifying the first events in sentences 2 through 4 (boy disobeys 
and falls into the chocolate).

(Note. The answers are shown in a different color. They are not there when you 
first show the slide. The answers pop in as you advance the slide.)




